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Answer all questions in ink
Q1 a) A common cmutter amphtier with Ve = 781, R =3 K £2 Ry = 2 K82 s properly buased in
mode N ose  excited  wiha small osignal such that
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b) A common emitter amplifier with Ri|R:=50K€Q, R = 15K, R, MULIR S
Ki: = 300 £ and bypassed by a large capacitance. R, = 1 K£2, r, = 25K Q, r ~41
Vie s OV Lo =2mA L and Vi = 25 m\V Calculate
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02 a) Draw the small signal low frequency cquivalent oot of o comumeon collector ( emitter

follower) amplifier, assuming
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Derive the putput resistance
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b) Draw a tWo transistor common enmitter amphlier ¢
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srewt employing an active load  The aircut s
biased by an independent current source Iy and

| & base resistance R together with any needed
vollage sources
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